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3.8-3(3.7-3.9) = 2 4029+35)=
3
56+5(5.4+25)= 22+4(1 ~5.5)=
. ;5
2 3
4+2; 4= 827 -47)+2x2+ 5=
2 11 1
21%x6+3-3(2+22)= L3t iy=
3 ) 17337 3)
1 1
24%9+3+3(3.2+5) = 22-222+3)=

www.snowmath.com



https://www.snowmath.com

,%.‘Xgi@ IR 3T, TYHAG, HIND b I YA BT A

22 2 2 394 4
38-3(3.7-3.9) == =4= 2 14029435)= 2 =26—
( ) 5 5 3 (2:9+3.5) 15 615
451 1 1 277 7
56+5(54+25)=— =45— 22+ 4(= —55)=(—=—)=(~18—
( ) 10 10 (3 33) = ( 15) ( 815)
2 43 13 3 77 2
4425 —41) = (——=) = (2= 27-47)+2x2+ 2 = (—=) = (152
(-4D= () =(25) BR7-47)+2x 2+ 2 = (-5) = (-157)

2 22 2
21%x6+3— 3(§ +22)= (—?) = (—45)

1183 3 1 16 1
24%9+3+332+4 )= 2 = 18> 22222+ =)= (—2y = (=32
. (3-2+3)=75 10 (22+3)=C75)=033)
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